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& = FEZ(A) REZEB) #BEEE (B) - (A)

1.2 & I A 10,125,000 10,795,000 670,000
EF = B = & 2,450,000 2,450,000 0

B R B o #H £ 4,050,000 4.755,000 705,000

g2 B = & (1) 2,960,000 2,960,000 0

g2 8 £ & (2) 665,000 630,000 A 35,000
2.% ¥ X A 38,300,000 43,075,695 4,775,695
mME R TN KR FE X 600,000 422,000 A 178,000
w7 F E X A 500,000 643,000 143,000

K # R E # E 36,300,000 41,178,094 4 878,094

fHl B &£ F % I A 600,000 532,125 A 67875
EgEBEIKE XA 300,000 300,476 476
3. X A 201,000 733,970 532,970
= HX F B 1,000 270 A 730

¥ Y A 200,000 733,700 533,700

L 8 IX A& 5 (a) 48,626,000 54,604,665 5,978,665
Bl OHl & B I X = B 22,395,117 22,395,117 0
X A & & & (b ) 71,021,117 76,999,782 5,978,665
1.5 ¥ &8 43,042,000 47,598,185 4 556,185
M= & 1,200,000 1,918,253 718,253
= = Z 200,000 85,316 A 114684

X EE(F X 7)) 1,000,000 1,832,937 832,937
QA # B 3,376,000 3,388,675 12,675
® 8 #® M 1,560,000 1,560,000 0

ia = 1,309,000 1,401,400 92,400

* = #R OB N 507,000 427,275 A 79725

B B & & E H 0 0 0
B=E % & b 38,466,000 42,291,257 3,825,257
T B =B fF & 154,000 100,321 A 53679

w B O OxXx @& % 68,000 94977 26977

B b= h Z 130,000 112,724 A 17276

H E 2 B R R B 72,000 0 A 72,000

= B B F B M 360,000 402,822 42,822

& f& & 7,000 0 A 7,000

& & 8,000 0 A 8,000

g & = 350,000 352,562 2,552
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mo R ® X % 52,000 31,049 A 20,951

# = = 200,000 27,667 A 172333

& F = 200,000 179,042 A 20,958

5 2B Ik = X 140,000 120,000 A 20,000

ot & = = 1,100,000 1,129,626 29,626
HP ZPC%H® & 50,000 57,750 7,750
KR ESEEXHN 33,775,000 38,223,005 4,448,005
B R E N REE 1,000,000 786,302 A 213,698

Bl B £ F ¥ X H 100,000 42,460 A 57540

X e EHEIKRSE XN 700,000 630,960 A 69,040

2. EHE 5,538,000 4,118,908 A 1,419,092
(DAHBE 1,529,000 1,551,813 22,813
& =] ED 7] 840,000 840,000 0

] # 391,000 418,600 27,600

#f£f = R B O#H 273,000 284,851 11,851

'/ M O E £ = 25,000 8,362 A 16,638
(2) =& 550,000 906,375 356,375
5 = = 350,000 562,826 212,826

i = = =1 200,000 343,549 143,549
() E=HEAM 3,459,000 1,660,720 A 1,798,280
moR 8 X £ 28,000 16,719 A 11,281

H ¥ Al =4 70,000 60,699 A 9301

H % & B ks & & 28,000 0 A 28,000

= =4 22,000 0 A 22,000

T ®# &8 [F = 46,000 29,967 A 16,033

"R B x & # 102,000 142,467 40,467

= B B & B H 140,000 156,654 16,654

& & =4 3,000 0 A 3,000

P ‘A & 100,000 107,000 7,000

-] B -4 50,000 11,000 A 39,000

] = & 50,000 50,000 0

1 f& # 150,000 151,094 1,094

P A i 70,000 70,000 0

H B i 2,000,000 310,600 A 1689400

M % E H Z K& 470,000 469,150 A 850

M -4 80,000 72,410 A 7590

! i A B 50,000 12,960 A 37,040

4 8 X H & 5 (c) 48,580,000 51,717,093 3,137,093
HHNXERE (a)-(c) 46,000 2,887,572 2,841,572
REPEBINTZEE (b)-(c) 22441117 25,282,689 2,841,572




